Key to Exam II (corrected); F4360; Spring 2005; 9:00 Class
Note:  As we have discussed several times in class, you do not have to do any calculations in answering the questions on this exam.  Rather, you should write down all equations needed to answer a question and fill in as many numbers as possible.  If a problem requires multiple steps, plug in variables from previous steps as necessary.

Example:  Step 1:  X = A + B = 1 + 3; Step 2:  Y = X/R = X/9  (Assuming you are given numbers for A, B, and R).

Short-answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  What keystrokes would you use in Excel to:  

a.  bold a selection.  Ctrl + B
b.  put a box around a cell or selection of cells.  Ctrl + Shift + 7
c.  open the format cells box.  Alt + O + E or Ctrl + 1
For short-answer questions 2 and 3 show how you would calculate the impact of the information on the incremental, after-tax cash flows of the firm 2 years from today.  Write a “+” sign to indicate an increase in cash flows and a “-“ to indicate a decrease in cash flows.  Assume for both that the marginal tax rate for the firm is 35%.  

2.  Unexpected Advances in Basketball Inc. (UAB) is considering purchasing a new fleet of vans for making deliveries of its new basketballs with flight-correction microprocessors (called “Nothing But Net”) to retail firms.  These vans cost $500,000 and have an expected life of 10 years.  The vans will be depreciated on a straight-line basis to a salvage value of $10,000 at the end of their life.  Note:  As originally written, this was a sunk cost.
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3.  UAB Inc. estimates that the production process for the new basketballs will require an initial (today) investment in current assets of $80,000 and additional investments in current assets of $10,000 for each of the first 4 years of production.  UAB estimates that current liabilities will rise by $30,000 today and then by an additional $4000 for each of the next 4 years.  Thereafter, both current assets and current liabilities will remain constant over the life of the production of the basketballs.  
CF = – (10,000 – 4000)

4.  How would you decide between two mutually exclusive projects using the projects’ profitability indexes?  Why might this project not be the best one for stockholders?

Highest PI > 1.  Ignores scale.

5.  When using the Black-Scholes Options Pricing Model to value a call on Dell stock, what would you want to use for 2 if you could obtain the number?
Variance of returns on stock over the life of the option.

6.  You are considering buying calls on Left Standing Unprepared Inc. (LSU) with an exercise price of $40 per share.  Is it possible to know if the calls that expire in 3 months or the calls that expire in 6 months will cost more to buy?  If so, which one?  If not, what else do you need to know before you can answer?

6 months
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7.  What is the difference between an American option and a European option?
American option can be exercised at any time until (including) expiration date and European option can be exercised only on expiration date.

8.  Some time ago you purchased calls on Ultimately Couldn’t Last Around (UCLA) Inc. Which of the three actions you can now take related to these options has the potential for creating a negative cash flow for you?

Exercising option.

9.  State (but do not discuss the reasons for) the potential conflict of interest exists between stockholders and managers over the size of firm?
Management will want to grow the firm beyond the size that is optimal for stockholders.

10.  What is the fundamental limitation of sensitivity analysis?
Does not allow for interactions between variables.

Problems/Essays

1.  Unable To Effectively Pass Inc. (UTEP) is considering building a new factory to produce gloves with a coating that either attracts or repels basketballs depending on the angle at which fingers are held.  The factory will cost $500,000 to build and will produce net cash flows over the next 10 years that have a present value of $640,000.  The investment will be significant for UTEP since their existing assets are expected to produce net cash flows over the next 15 years with a present value of $1,200,000.  However, UTEP only estimates that it would be able to get $900,000 for these existing facilities if it were to sell them to a competitor.  The risk of the new facility is also much higher for the new factory than for UTEP’s existing assets.  Specifically, the standard deviation of returns on the new factory is estimated to be 53% while the standard deviation on UTEP’s existing assets is only 34%.  However, because the cash flows from the factory are not highly correlated with the cash flows from UTEP’s existing assets, the standard deviation of the overall assets of the firm will only be 38% once the factory is built.  UTEP’s existing assets are funded with stock and with debt that matures in 5 years for $1,500,000 (the debt pays no coupons).  UTEP plans to fund the new factory with $100,000 of existing cash, by issuing bonds that mature in 5 years for $600,000, and by issuing common stock.  The return on Treasury securities (all APRs assuming continuous compounding) varies by maturity as follows:  1- year = 3.32; 2-year = 3.67; 5-year = 4.18; 10-year = 4.71; 15-year = 4.78.  What will be the value of the firm’s stock if UTEP builds the new factory?
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V0 = 1,200,000 + 400,000 – 500,000 + 640,000

Dt = 1,500,000 + 600,000

t = 5

rf = .0418


[image: image5.wmf](

)

2

2

38

.

=

s


N(d1) and N(d2) => look up on cumulative normal distribution tables
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2.  Air Zona Inc. is considering constructing a new facility to build inflatable seats for basketball (and football) fans at a cost of $1,000,000.  The new factory is expected to produce net cash flows for the next 15 years and has an expected net present value of $250,000. The 28% standard deviation of returns on the new facility is much lower than the 41% standard deviation of returns on Air Zona’s existing assets.  Once the new facility is built, the overall standard deviation of return on Air Zona’s assets will be 39%.  The factory will be funded by issuing stock and by issuing bonds that mature for $1,800,000 ten years from today.  After the factory is built, the standard deviation of returns on the firm’s stock is expected to fall from 52% to 42%.  Air Zona estimates that if sales fail to live up to expectations, the facilities can be sold to a competitor at any time over the next 5 years for $700,000.  The return on Treasury securities (all APRs assuming continuous compounding) varies by maturity as follows:  1- year = 3.32; 2-year = 3.67; 5-year = 4.18; 10-year = 4.71; 15-year = 4.78.  How will building the new factory impact the value of Air Zona’s assets?
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V0 = 1,000,000 + 250,000

E = 700,000

t = 5

rf = .0418
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N(d1) and N(d2) => look up on cumulative normal distribution tables
Impact on assets = 1,000,000 + 250,00 + P0
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